* Install with fiber side down

I

NOTE: Driver and Driver Piston
are assembled with
Loctite Grade 277.
Deflector screw to cap
are assembled with
Loctite Grade 242.

TRIGGER COMPONENTS
ORIENTATION




Item Number

O 0 39 N N B~ W N =

N N NN N N NN M e e e e e e e e
N N L A WD = DO O NN WD = O

Part Number

KN85048A
000000-00
KN85070A
000000-00
KN85031
MSC5080-16
MHS5080-40
KN85029A
KN85028
N8030

MHES5080-100
MHE6100-100

000000-00
MSC8125-16
KN85058
KN85016
MSC8125-18
KN85080
KN85047
000000-00
000000-00
KN85095
N70120
KN85075
000000-00
000000-00
TA10970

PartsList for KN85PP Type O

Description

PUSHER SPRING ASSY
No Longer Available
MAGAZINE ASSY

No Longer Available
MAGAZINE SPACER
SCREW-SHCS-M5X0.80X1
SCREW

LATCH
LATCH-SPACER
SPRING-TORSION
NUT-NYLON M5X.80
NUT-ESN M6X1

No Longer Available
SCREW-SHCS M8X16
BRACKET-GUIDE
TRIP SPACER
SCREW-SHCS-M8X18
DUST SHIELD
SPRING-COMPRESSION
No Longer Available

No Longer Available
TRIP-PP

NUT- TORQUE
NOSE-PP

No Longer Available

No Longer Available
VALVE BODY

Page 1

Qty Required

T T SN S S S N i e T e T e e T e N T e S O S S S S S e



Item Number

28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54

Part Number

KK23100
TA10971

MRGO002514

000000-00
100233
KN85010
KN85042
KN85034
89672
RG273710
KN85076
N8045
T36177A
000000-00
000000-00
000000-00
000000-00
86998
KN85038
000000-00
HN440.3
89013
000000-00
KN85041
KN85069A
000000-00
850959

PartsList for KN85PP Type O

Description

SPRING

VALVE STEM
O-RING-.098X.055
No Longer Available
SEAL

OUTER BUMPER
LOCATOR PLATE
INNER BUMPER
O-RING
O-RING-2.737X.103

CYLINDER SLEEVE-PP

PIN-SPECIAL
TRIGGER

No Longer Available
No Longer Available
No Longer Available
No Longer Available
O-RING

VALVE BODY

No Longer Available
NUT-ESN-4-40
O-RING

No Longer Available

TRIGGER VALVE CAP

VALVE STEM-S.T.
No Longer Available
BOWED RET RING

Page 2

Qty Required

—t e e e e e e e e e e ek ek e e e e e ek e e ek e ek e e e



Item Number

55
56
57
58
59
60
61
62
63
64
65
66
66
66
68
69
70
71
72
73
74
75
76
77
78
79
80

Part Number

000000-00
000000-00
85012
KN85011
000000-00
KN85050
000000-00
000000-00
000000-00
KN85007
850813
000000-00
KN85092A
KN85092A
000000-00
000000-00
000000-00
KN85045
KN85077
850957
000000-00
KN85093
850626
850814
850766
104141
000000-00

PartsList for KN85PP Type O

Description

No Longer Available

No Longer Available
O-RING

STAND PIPE

No Longer Available
HOOK

No Longer Available

No Longer Available

No Longer Available
BUMPER-HEAD VALVE
O-RING-2.234X.139

No Longer Available
DRIVER/PISTON ASSY
DRIVER/PISTON ASSY
No Longer Available

No Longer Available

No Longer Available
SPRING-COMPRESSION
HEAD VALVE SLEEVE-PP
O-RING

No Longer Available
HEAD VALVE PISTON
O-RING-1.984X.139
O-RING-2.484X.139
O-RING-2.609X.139
NUT-ESN-M8X1.25

No Longer Available

Page 3

Qty Required

e e e e e e e T e T e e S S e S S N e e L e e e e



Item Number

81
82
83
84
800
800

Part Number

KN85054
000000-00
MSB6100-12
126200
100653
100679

PartsList for KN85PP TypeO

Description

MUFFLER DISK

No Longer Available
SCREW-SBHCS-M6X1.00X
SEAL-PILOT VALVE
LUBE (2CC)

LUBE (1LB.CAN)

Page 4

Qty Required

—_ = e = = RO



